Write a function rule for each table of values.

1. 3 =mXk+b 2. j

8 |-12 Shre % 1 57 m = x
1

23 X- —3|7.2
0 |8 = mA+t 4 |-9.6 :-___!21_
5 120.5 :_..arn'\'ﬁ 11 |-26.4 -

3. Atowing company charges $75 to come to where your car is broken down and

: —
85 cents per mile to tow your car. — 73 —+ g X

a) How much will you have to pay if you need to have them tow your car 15 miles

{0 your favorite repairsrz?7 B 3 B
Y 'a—hgs(\")) )(:ﬁb

b) How far did they tow your car if the total bill was $109?

\00(:7‘)——{—_ 57X
X=H0my.



4. You sold 24 necklaces at the craft fair for $190.80. \4

a) How many necklaces dldémiaell if y<_3_171 zab 43 1 \j ‘H
—Snectlaces  X=3
X =18n k-

b) How much would you make if you sold 13 necklaces? \a( QB
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Classwork Worksheet Ans:
1. y=7.50x y = money; X = miles walked
@y = 5x y = perimeter; x = length of side

3. y=136+ 15x y = money in your acct; x = week
4. y=55+0.25x y = phone bill; x = minute
5. y=0.06x y = amount you owe; X = price

6. y=x-2 7. y=1.5x



A Regular Polygon has sides that are equal in length. The perimeter of a Regular PEntagon is a  seserevepisssesa o

nction of the lenath of each side. =

—
em—

Q:

Hwk #31 Answers:

4. y = 3x
5 flx) =x-0.5

13. e(n) = 6.37n
14. A(n) = n?

>

. Cla) = 10a+1
. 9 books cost $31

c. C(6) = 61 —~total cost of 12 books

Variables: — \j

3. The amount of money in your account is a function of how many deposits you've made. You had $136

in your account then deposit $15 each week.

EQ:

Variables:

4. The amount of your phone bill each month is a function of the number of minutes beyond 100 that you
use each month. Your phone company has the following charges: $55 per month plus $0.25 for every

minute after the first 100 minutes each month.

EQ:

Variables:

5. The amount of tax you owe in the State of Michigan when you purchase an item is a function of the

price of the item. The sales tax in Michigan is 6%.

EQ:

Variables:

7. EQ: y=

X |Y

-4 | -6

2|3

0|0

6 |9

8
Alg 1
11-26-18



he height f(h) of an object in feet when you know the height / in inches e LG ) etesm)

21. a. Write a rule to find the total cost C(a) for all the books a person buys
EXPRESS! through Book Express. Let a represent the numberoks
bought (after the first 6 books).

P k. b. Suppose a person buys 9 books in all. Find the total cost. 4.5 6.
5 . ¢. Evaluate the function for ¢ = 6. What does the output represent?

C (@)= [Do+

FSERSSRE SRR

wradditional books at our
gular low Club price of $10.00
er book. To become a Book
ixpress member, just buy 2

dditional books within the first

ear. You may resign your

1embership at any time. C
I

¥l

Section 5.4 Cont...

Writing Function Rules
® Groups of three: complete the following practice activity worksheet.
® Make sure to answer each question completely. SHOW YOUR WORK!

® State your reasonining for the appropriate questions, in complete
sentences.



1. You went shopping at Fairlane Mall and bought a pair of jeans for $25.00 and spent
$20 per shirt. Write a rule to describe the total cost, f(x), and amount of shirts, x.

a) What is the function rule? ,Q LX) Q g_-"‘ 2 O X

b) What would be the total cost if you bought ﬂ 5—
)5+ 20015 ) = %

2. The Class of 2016 donated a tree to HFEC and it was 10 centimeters tall when it
was first planted. Since then, it has grown approximately 0.50 centimeters per day.

a) Write a rule to describe this function: ’Q(X) - O b/x—l—(o
b) After 90 days how tall will the tree be? 65 (m

¢) *Challenge* A]ft r ho angdays will the tree be 18 centimeters tall?



3. At-shirt company charges a $30 screening fee and $8 for each t-shirt we want
printed.

a) Create a function rule to describe thi%sli)tu:ailich

U=
3

b) What is our total cost if we kiﬁyght 657 “shirts for the freshmen class?

5

L

4. Josephis in the business of repairing home computers. He charges a base fee of
$45 for each visit and $25 per hour for his labor. Create a function rule to show the
relationship between the total cost, f(x), and hours, x.

1. Function Rule : k (_Y) 45 + }b)(

2. What did you define the variables:

his
oSt




3. Complete the table

(x,y)

J = 45425(X)
= U5+75(0)

(0/‘1’4"

i

2.5

45

(4,145

U

./(ﬂ/’q‘-

215§ A

Saull Vol 70 5

4. Graph. Make sure axis’ are labeled, intervals are accurate, and line is

s




5. Answer the following questions:
MUST USE COMPLETE SENTENCES & SHOW WORK ON THE BACK.

a) Which direction is your graph going?

'\>OSH'\V<,

b) Where does the graph intersect the y-axis?

(0,45)

¢) What would be unreasonable data for this problem’?X (ah_t. J}(

cantbentd.

d) What would be the total cost be if Joe worked 20 hours?
R0) = 45 +25( D)

e) What would be the total cost be if Joe worked 1g.hours?

<"410



f) How can you use the graph to help you find the answers to d & e?

Lnd shpL

) How many hours would Joe have to work if he made’

Hwk #32 - Practice 5.4 Worksheet

IXL #13 - Q.2 & Q.10 due Friday at 4pm!



